
In[1]:=

SetOptions[Plot3D(*Or whichever plot you desire*),

ColorFunction → "Rainbow"(*One of many options*)];

SetOptions[ContourPlot(*Or whichever plot you desire*),

ColorFunction → "Rainbow"(*One of many options*)];

SetOptions[RegionPlot(*Or whichever plot you desire*),

ColorFunction → "BlueGreenYellow"(*One of many options*)];

In[ ]:= SetOptions[ContourPlot3D(*Or whichever plot you desire*),

ColorFunction → "BlueGreenYellow"(*One of many options*)];

(*1*)



In[28]:= f = x * y + Cos[y + Exp[x]]

Plot3D[f, {x, -10, 10}, {y, -10, 10} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[28]= x y + Cosⅇx + y

Out[29]=

Out[30]=
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In[73]:= f = Tan[x + y]

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[73]= Tan[x + y]

Out[74]=

Out[75]=

-4 -2 0 2 4

-4

-2

0

2

4

10limits.nb 3



In[70]:= f = Sign[x * y]

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[70]= Sign[x y]

Out[71]=

Out[72]=
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In[67]:= f = Sign[x * y] + Tan[x + y]

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[67]= Sign[x y] + Tan[x + y]

Out[68]=

Out[69]=
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In[64]:= f = 1 / (Log[Sqrt[x^2 + y^2]])

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[64]=

1

Log x2 + y2 

Out[65]=

Out[66]=
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In[61]:= f = ArcTan[y / x]

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[61]= ArcTan y
x


Out[62]=

Out[63]=
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In[76]:= f = x^2 - 2 x * y + 3 y^2 - 4 x + 3 y - 6

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[76]= -6 - 4 x + x
2
+ 3 y - 2 x y + 3 y

2

Out[77]=

Out[78]=
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In[79]:= f = (2 x + 3 y) / (4 x - 3 y)

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[79]=

2 x + 3 y

4 x - 3 y

Out[80]=
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In[82]:= f = Sqrt[(x^2 - 3 x * y) / (x + y)]

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[82]=

x2 - 3 x y

x + y

Out[83]=

Out[84]=
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In[88]:= f = 4 Cos[3 y] + Sin[x^2 * y^2]

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[88]= 4 Cos[3 y] + Sinx2 y2

Out[89]=
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In[91]:= f = Exp[Sqrt[x] - Sqrt[y]]

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[91]= ⅇ x - y

Out[92]=
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In[94]:= f = (x^2 - y^2) / (x^2 + y^2)

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[94]=

x2 - y2

x2 + y2
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In[101]:= f = ((x^2 - y^2) / (x^2 + y^2))^2

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[101]=

x2 - y22

x2 + y22

Out[102]=
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In[104]:= f = -x * y / (x^2 + y^2)

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[104]= -
x y

x2 + y2
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In[107]:= f = 1 / (x^2 + y^2)

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[107]=

1

x2 + y2

Out[108]=
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In[110]:= f = (x^2 * y) / (x^4 + y^2)

Plot3D[f, {x, -5, 5}, {y, -5, 5} ]

ContourPlot[f, {x, -5, 5}, {y, -5, 5}]

Out[110]=

x2 y

x4 + y2
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